Commonly Used Statistics in Math 217
	Name
	Section
	Test Statistic
	Confidence Interval
	TI Calculator
	SPSS Dialog

	One-sample z test for population mean µ
	6.1, 6.2
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	· ZInterval

· Z-Test
	n/a

	Notes for one-sample z test:

1.  Data are from a single SRS of size n from the population 

2.  σ known (unrealistic in practice)
3.  Normal population or n ≥ 30


	One-sample t test for population mean µ
	7.1
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	· TInterval

· T-Test
	Analyze > 

Compare Means > One-Sample T Test

	Notes for one-sample t test:  

1.  Data are from a single SRS of size n from the population 

2.  If sample size is less than 15, do not use t procedures if the data are clearly non-normal or if outliers are present.  

3.  If sample size is at least 15, the t procedures can be used except in the presence of outliers or strong skewness. 

4.  The t procedures can be used even for clearly skewed distributions when the sample is large (n ≥ 40)

5.  Use for matched pairs data by first taking the differences within the matched pairs to produce a single sample of differences



	Two-sample t test for difference in population means µ1-µ2
	7.2
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	· 2-SampTInt

· 2-SampTTest
	Analyze >
Compare Means >

Independent Samples T Test

	Notes for two-sample t test:

1.  Data are from independent samples from two populations 

2.  Distribution of the test statistic is approximated by t for the appropriate d.f. (use software/calculator)

3.  Equal sample sizes are recommended for best accuracy.

4.  See guidelines for one-sample t; need large sample sizes or approximately normal distributions


	One-sample z test for population proportion p, large sample
	8.1
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	· 1-PropZInt

· 1-PropZTest
	n/a

	Notes for one-sample z test for p (large sample):

1.  Data are from a single SRS of size n from the population
2.  Data contain at least 15 successes and at least 15 failures (large sample)



	One-sample z test for population proportion p, small sample
	8.1
	Make inferences about p based on the confidence interval.
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	n/a
	n/a

	Notes for one-sample z test for p (small sample):

1.  
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2.  Data are from a single SRS of size n from the population
3.  Sample size  n ≥ 10




The two-sample procedures for difference in population proportions are summarized in your textbook on p.565-566.
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